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Python Casting
Python Strings “3 BUILD YOUR CAREER. GET I gLl
Python Booleans schools FULL ACCESS. SAVE 770$% Start today
Python Operators

Python Lists

Pyhon Tupes Python - Join Sets

Python Sets

Access Set ltems

Add Set ltems

Remove Set Items JOln TWO Sets
Loop Sets
There are several ways to join two or more sets in Python.
Set Methods You can use the union() method that returns a new set containing all items from both sets, or the
Set Exercises update() method that inserts all the items from one set into another:
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print("P11211XXX practices Lab038.")

MySetl = {"Kiw1", "papaya", "banana"}

MySet2 = {"apple", "cherry"}

MySet = MySet].union(MySet2) #The union() method joints both sets
print(MySetl, MySet2)

print (MySet)

MySet].update(MySet2) #The update() method 1nserts the i1tems 1in MySet2 into MySetl
print(MySetl, MySet2)
MySetl.intersection_update(MySet2) #Keep the i1tems that exist in both sets

print(MySetl, MySet2)

MySet = {"apple", "banana")}

NewSet = MySet.intersection(MySetl) #The intersection() method will return a new set, that
print(NewSet) # only contains the items that are present in both sets

i

Replace P11211XXX with your student ID number
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HIERE Ctrl+hift @) —

FREEE).. Cll+0

REEE®S) Ctrl+S #The union() method joints both sets

2EE. CTRL+Shift+S(A)

FREEE(U).. up () method inserts the items in MySet2 into MySetl

FIEN(P)... Ctrl+P ] _ _ _

212) # the items that exist in both sets
ZFRM

MySet = {"apple™, "banana™] _ _ _
NewSet = MySet.intersection(MySetl) #The intersection() method will return a new set, that
print(NewSet) # only contains the 1tems that are present in both sets
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Microsoft Windows [hRZS 10.0.19045.3324]
(¢) Microsoft Corporation. &H{EHEFTHE @ R —VIFEF] -

C:\Users\User>Python P11211XXX. py

Replace P11211XXX with your student ID

lézi.ﬁﬁi;j »~ Python P11211XXX.py. 2.3- * Enter.
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Verification Criteria of Lab038
(Lab038 5k i 4o )it 4 &
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Microsoft Windows
(¢c) Microsoft Cor

PII211XXX &
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[('Kiwi', 'cherry
('apple', 'cherry']
('apple '}
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Ask the teacher to giVC print("P11211XXX practices Lab038.")
” IySetl = {"Kiwi", "papaya", "banana"}
you points after ]

IySet2 = {"apple", "cherry"}
IySet = MySetl.union(MySet2) #The union() method joints both sets

1 . h print(R}ygetl. MySet2)
print(MySet)
Comp etlng t e IySet].update(MySet2) #The update() method inserts the items in MySet2 into MySetl
. print(MySetl, MySet2)
111ustrated results fySetl.intersection_update(MySet2) #Keep the items that exist in both sets

print(MySetl, MySet2)
fySet = {"apple", "banana"}

=2 N = == X 22 ewSet = MySet.intersection(MySetl) #The intersection() method will return a new set, that
CE RN FrEE TS A e 1ong .

print(NewSet) # only contains the items that are present in both sets

Every student must do L.ab(038 once!
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